299
Homework Qs??" > p=2y +

- _ 10 = 2y + 4 X
@ o qD*L‘XZZﬂ




1.2: Functions and Function Notation

Function Notation

Standard Notation Vs.
y=x+3 fix)=x+3
smv%s%v@ = LFind f12).
y=1+3 f(1)=1+3
y=a (|, =4 (L, LQ

Note: fis not a variable.

f(x) does not mean f times x.
It means: What is the value of the function, f, when x equals a

certain value?

Ex. For each Function, determine the values indiated
= 3X* -2 x4+

Y
1. Iffix) = 3x*- 2x+ 1, find f{-1). 2.1f flx) =-3x+2, find x if f{x)=0.
TC(/DZS('DEKZ(JOWL{ X =—| Q=-At2
= 3+ o+ By =D
o= ¢ — =
<>(or(p§Fw\d\S o (";6\ @

3.0F (%) =x- 6x, find x if f(x) = 16. N
(_ P
02— bx—16b T8 =

0 =Tx-2)(x+2D
H=R X=—R

4.1f fix) = 2x*-3x :
a) find 3{12] b) f(m+1)

el >2x2/35<%@ L= ax*-3%

£y =2(° :
£l = 24D %= BCnt)

HD =8 -0 =
Lo ﬂﬁﬁﬁéﬁb
:Z(V‘ﬁl)rﬂ'ﬁ m¥b*’5(/\n45
3%(2/> :%(l) -9 (mz \'Qw\‘rb fgm%
=0 =AM Fdmtg3m-2

3Ey =32 2% ] TBm amot
— 2 [202)3(2))
=6
o) flf(x))
f£(x) —ax" -2«

AN
ﬁ@@) :a<&><1/5><>1~ 3(axt “%Q
=a(ay 302X -3x) — G} X
=a(y4 YARIA A +q><L> Gl
= Ex T —1 12 HEXT =6 X"+ X
FER = X1 -20%> + 2% +9x



HOMEWORK
p. 22 #C1, C2, 1ace, 3a, 11,
and Handout

This is read:
“f of x equals x-squared”

| %f(x} = x2

.................. The x is the generic name f is not a variable.

for the input value. This doesn't mean
f times x

. . The whole symbol is
{g“ww;m; the output value.
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